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Note : There are two sections in this paper. Section-A is 

compulsory. Answer any three questions from 
Section-B. 

	

SECTION-A 	10x2=20 
1. 	Following are the multiple choice questions. Each 

question is having four choices, out of which only 
one choice is correct. Find the correct choice. 
(a) Which of the following is an Object Oriented 

Programming language ? 
(i) C 	 (ii) Fortron 
(iii) Java 	(iv) Windows 

(b) TCP stands for 	 
(i) Transit Control Protocol 
(ii) Transmission Control Protocol 
(iii) Transit Clustor Protocol 
(iv) None of the above 

(c) The following is related to Object Oriented 
Programming. 
(i) Class 
(ii) Object 
(iii) Inheritance 
(iv) All of the above 
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(d) Flow charts show the flow of 	 

(i) Data 

(ii) Control 

(iii) Both data and control 

(iv) None of the above 

(e) 	If the complexity of a task is 0 (n3), then it 
is said to be 	 

(i) Quadratic 

(ii) Cubic 

(iii) Linear 

(iv) None of the above 

(f) 	Keyboard is 	 

(i) Input device 

(ii) Output device 

(iii) Both (i) and (ii) 

(iv) None of the above 

(g) The sum of first 'n' positive integers can be 
computed using the following formula : 

( i ) 
n(n + 1) 

2 

n(n + 1)  
(ii) 	3  

( n (n  + 1)1 (iv)  in (n + 1)1 
(iii) 

2 	 3 
■ 

(h) DSS stands for 	 

(i) Decision Support System 

(ii) Direct Support System 

(iii) Direct Services System 
(iv) None of the above 
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(i) 	 is the control node in LAN where the 
data files are stored and users can access 
them 
(i) Server 
(ii) Client 
(iii) Printer 
(iv) Scanner 

(j) 	Which of the following memories loose 
contents when the computer is turned off ? 

(i) ROM 

(ii) RAM 
(iii) PROM 

(iv) CD-ROM 

2. 	Explain any five advantages of internet. 	10 

3. Explain the terms "Time complexity" and "Space 10 
Complexity" in relation to an algorithm. 

SECTION-B 

4. (a) Explain "Cannibals and Missionaries" 10 
problem. 

(b) Explain any two types of Information 10 
Systems. 

5. (a) What is a Data Dictionary ? Why is it 10 
needed ? 

(b) When same problem can be solved by two 10 
algorithms, how the user will determine the 
efficient algorithm among them ? 
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6. (a) What is an NP-Complete problem ? Give an 10 
example of it. 

(b) Write a short note on "client server system". 10 

7. (a) Write a short note on "Reusability". 	10 
(b) Explain the differences between Decision 10 

Tables and Decision Trees. 
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(i) C 

(ii)  
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(iv) f-dlef 
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Transit Control Protocol 

Transmission Control Protocol 

Transit Clustor Protocol 
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(c) 	r-mForuci -43Tfifkzirl 911 4-111-1 

: 

(i) a, 	 (ii) 3-T5M.k-z1 
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(d)  	51dff ch) "krti-d1 t I 

(i) 3ftT 

(ii) f97f-ATIT 

(iii) f9-zi.77 
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(i) fora.  
(ii) fTETM 

(iii)  

(iv) P14 	-(1 	
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(i) 3417 (ii) c1- 
(iv) --14 

(g) 
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(h) DSS -Wf 3494 : 

(i) Decision Support System 

(ii) Direct Support System 

(iii) Direct Services System 

(iv) 	.w11 

(1)   LAN -44---174 1.4 1T ,314 	cht 
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(iv) 	rd 	(4-97) 

(j) 	*cIET si'qt 	F-14-1616d 14 -# 
ot.C1 ratrq- 	(5C4-lt  iici1 t? 

(i) ROM 

(ii) RAM 

(iii) PROM 

(iv) CD-ROM 

2. 	 10 
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7. (a)  31.zIrdit Tit -R-W Tit -17f tuTufi.  fffif"R I 10 

(b)  10 4  fiTIN TrRit 	ffful-zr 	3f-d-T 011 oqRsqf 

CIC-01 	 8 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

